
Q1) Answer the following questions in 100 words each. (Any Three)[3 × 5 = 15]

a) Explain the Article 370.

b) Explain the Nature of Naxalist Movements.

c) State the Effects of Terrorism.

d) Explain the India’s Counter Terrorism Policy.

e) What are the Types of Cyber Crimes?

Q2) Answer the following questions in 300 Words each. (any One)[1 × 15 = 15]

a) Explain in detail the Kashmir is an Internal Security Problems of India.

b) What are the Naxalite Problems Effects on India’s National Security?

Q3) Answer the following questions in 200 words each. (Any Two)[2 × 10 = 20]

a) Explain the Security impact of Kashmir issue and suggested measures.

b) Explain in details Naxalite movement in India.

c) Describe in details the Types of Terrorism.

d) What are the Basic Instruments of Cyber Crime?
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Q4) Write Short Notes (Any Four) : [4 × 5 = 20]

a) Article-35 A

b) Naxalite Problems

c) Causes of Terrorism

d) Concept of Counter Terrorism

e) Cyber Crime

f) Hacking
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Total No. of Questions : 4]
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(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àým§Mr CÎmao àË òH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [3 × 5 = 15]

A) H$b_ 370 ñnï> H$am.

~) ZjbdmXr MidirMo ñdén ñnï> H$am.

H$) XheVdmXmMo n[aUm_ gm§Jm.

S>) ^maVmMo à{VXheVdmXm {df`rMo YmoaU ñnï> H$am.

B) gm`~a JwÝøm§Mo àH$ma H$moUVo?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àým§Mr CÎmao àË òH$s 300 eãXm§V {bhm. (H$moUVmhr EH$) [1 × 15 = 15]

A) "H$mí_ra ^maVmMr A§VJ©V gwajm g_ñ`m' g{dñVa ñnï> H$am.

~) ZjbdmX g_ñ òMo ^maVmÀ`m amï´>r` gwajoda hmoUmao n[aUm_ H$moUVo?

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao àË òH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [2 × 10 = 20]

A) H$mí_ra g_ñ òMo gwajodarb hmoUmao n[aUm_ gm§JyZ Cnm` `moOZm ñnï> H$am.

~) ^maVmVrb ZjbdmXr Midi g{dñVa ñnï> H$am.

H$) XheVdmXmMo àH$ma g{dñVa {deX H$am.

S>) gm`~a qH$dm g§JUH$ JwÝøm§Mr _wb ŷV gmYZo H$moUVr?
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àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr Mma) [4 × 5 = 20]

A) H$b_ 35-A

~) ZjbdmX g_ñ`m

H$) XheVdmXmMr H$maUo

S>) à{VXheVdmXmMr g§H$ënZm

B) gm`~a qH$dm g§JUH$ JwÝho

B) h°qH$J


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